AR LA-WART-SCHLULE

Mathe-Training: Terme zusammenfassen (1)

Berechne die Terme. Beispiel 3x + 4x = 7x
ASCHAFFEMBLIRG

1 |Ba+3a= 8a

2 |8b-3b= 5b

3 |6a-17a+7a= -4a

4 |9a-9a+2la= 21a

5 [19a+10a+ 3a-2a= 30a

6 |1ly-5y-19y-14y= -27y

7 |23x-16x-5x = 2y

8 |05x-07x+x= 0,8x

9 [16y-39y-= -2,3y

10 |41x-49x +16x = 0,8x

11 | 11x%+ 6x° + x = 17x% + x
12 | Y?-3y?+ 8y = -2y* + 8y
13 | -4b%+ 6b + 20b%= 16b® + 6b
14 | -8a -10a®-6a° = -16a° - 8a
15 | 4x + 22x + 9x°= 26x + 9x°
16 | 10y® - 6y - 13y = -19y + 10y?
17 | -11b + 16b - 4b® - 2b° = Bb - 6b°
18 | -3x + 4x° + 13x = 10x + 4x°
19 3y2+4y+y= 3y2+5y
20 | 10y +y®+ 9y = Y2+ 19y
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